4. Old Faithful: One sample analysis
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4. Old Faithful: Two sample analysis
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4. Old Faithful: Regression analysis
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4. Old Faithful: Regression analysis,
Real Time Updating

| cte 2ol th7 Mz 24 4
- LCIE 25 AE2 o|55H7| flo Aoz AMBE = Q= e

Of 2t 0|2 X[g/HXA| Boteh AlZhw : 2A[ZE FHO[EERE= &)

. 2= Z3 5 0 p&Shw=0) 2L ChS EETX| th7|AZHy,) :

- == 35 7 gF A2 Bk w>0) 8% TS 2= 7HK] CHZ[AIZE (yo-w) :
YW ~ N (33.47+10.73x — w, 5912 )| ZUE 2L (given y,>W)E A}

Z A MHEXE9| truncated normal distribution2 2 At



4. Old Faithful: Regression analysis,

Real Time Updating
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4. Old Faithful: Regression analysis,
Real Time Updating
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4. Old Faithful: Regression analysis,
Real Time Updating
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4. Old Faithful: Regression analysis,
Real Time Updating
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Old Faithful: Regression analysis,
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Real Time Updating
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